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QUESTION 1

A financial institution is placing the Juniper DX in front of an existing server which uses SSL. Due to security concerns
they want to maintain the SSL encryption all the way from the client to the server. Which three statements are true?
(Choose three). 

A. AppRules are required when using end to end SSL. 

B. Both client side and target side SSL must be enabled. 

C. The demo cert and demo key should be used for the target side certificate and key. 

D. The server is offloaded because the servers are only doing bulk encryption. 

E. Both the certificate and the key must be imported. 

Correct Answer: BDE 

 

QUESTION 2

What are two ways to verify that compression is happening through a DX appliance?(Choose two.) 

A. use vmstat  

B. use tcpdump print 

C. view statistics in WebUI 

D. use show server stats  

Correct Answer: CD 

 

QUESTION 3

Which three transport methods are used to transfer a TCP dump? (Choose three.) 

A. SMTP 

B. SCP 

C. TFTP 

D. HTTP 

E. FTP 

Correct Answer: ABC 

 

QUESTION 4
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How are AppRules executed? 

A. most common AppRule to least common as per stats 

B. by AppRule type in the order they were written 

C. in the order they where written 

D. most common AppRule to least common as per stats and AppRule type 

Correct Answer: B 

 

QUESTION 5

What is the primary benefit of using the Juniper DX ActiveN feature? 

A. security 

B. flexibility 

C. active traffic management 

D. scalability 

Correct Answer: D 
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